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D Major and A Major

There are two new major keys for Grade 2: D major and A major. You've probably

played these scales on your instrument. Their key signatures look like this:

~

) major: Fs"»arP and [
sharp. Think “fat (at”

A major: f {and 0 5'warp. Notice
hou the 0 sLarP is written 'ﬂgLer
than the 5LarP - 'lmPOrfant!

The reason D major and A major have these key signatures is because of the patterns

of tones and semitones in the scales. Let's look at the scale of D major:
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The F and C must be raised, otherwise the pattern of tones and semitones will
not be correct. This is why D major has F SHARP and C SHARP.

And now, A major:
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The F, C and 6 must be raised, otherwise the pattern will not be correct. This
is why A major has F SHARP, C SHARP and 6 SHARP.

1. Which 3 major keys use sharps? _Q_mg\ag_r _D_mﬂap_[ and A 1!)0'1Q[

Major Keys Quiz
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2. Which major key has one flaT?_EMQéQ{
3. Which major key has no sharps or flats? QZ [!m.} oY

4. Write the scale of D major in the bass clef:

* write the key signature
* write one octave going down
* use minims
* mark the semitones {remember: the BITTIN note s number L1)
N
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5. Circle the correct A major key signature (it must be correct in treble AND bass!)
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6. Write the scale of A major:

*
*
*
*

use the bass clef
use accidentals - not the key signature
write one octave going up

use crotchets
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Two Octave Scales: Double The Fun!

In Grade 2 we have to be able to write scales over two octaves. This is easy! Just
remember 3 things:

1. You will end up with 15 notes in your scale (don't repeat the middle note).

2. You'll usually need to start above or below the staff, otherwise you'll end up with
too many leger lines!

3. Make sure things like accidentals or tones/semitones are marked in BOTH octaves.

Here is an A major scale, written with accidentals and with the semitones marked:

Middle tonic note

( aPPears opce onlj
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Scale sfarf:\
Lelou f‘ve sfaﬂ:

Try writing the scale of D major following these instructions:

Accidentals and semitones
marLeJ in upper octave too

Scale Jegree no.

8 becomes no. |

* write the key signature
* write two octaves going down (you‘“ need Lo start abore the staff on Ieger linel)
* use minims

* complete the scale with a double bar line
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Did you check the clef?

Sometimes you may be asked to write a two octave scale that goes up and then down
again - one octave in each direction. The trick is to remember that the lowest note
is always no. 1. This means that you should mark tones or semitones starting from the
lowest note on each end. Mark the semitones in this scale:
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Well donel But what if the scale goes down first? Then the lowest note is in the middle,
at the 'bottom of the valley'. Try marking the tones in this D major scale:
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Good work! Now write the scale that contains two sharps:

* use accidentals (in both octaes) - not the key signature
* write one octave going up and one octave going down (don't repeat the middle notel)
* use semibreves
* mark the semitones (in both octares)
* complete the scale with a double bar line
SN
S A ofte PR o .~
— o e !
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6r00vj Quidelines EOr uriting Tuo (ctave Jcales

* When writing a scale going down, start above the staff

* When writing a scale going up, start below the staff
* Make sure you have 15 notes in total (don't repeat the middle note)

* Remember that tones and semitones must be marked in BOTH octaves
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Scale Practice

-
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use accidentals
mark each semitone with a slur

complete the scale with a double bar line
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Write a major scale going up and down one octave starting on the given note:
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2. Add a clef and accidentals to make this an A major scale {remenber to add the accidentals in

Lot'\ Octaves.l)
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3. Mark the semitones in the scale above.
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4. Write the scale of F major

*

write the key signature

* write one octave going down and then back up again

* use dotted minims
* mark the tones
_9 7NN ] \ 1 7D
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Tiny Test

1. Name this key signature: % A mo;\,or /5
ANBY4

()

S

rax
2. Write the key signature of F major here: Ay o YA

3. In the key signature of A major, the third sharp is written :@ lower than A
the sharp before (circle correct ansuer)

4, Write the major scale with the key signature of one sharp:

write the key signature

write two octaves going down

*
*
* use crotfchets
* mark each tone with a slur
*

complete the scale with a double bar line
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5. Here is a D major scale with the semitones marked. /5

However, it's not quite right... there are at least five mistakes.
Can you find them?
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Total: /20



Major Keys Have Minor Relatives!

-
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There is a minor key that has the same key signature as € major. It is A minor. This
means that € major and A minor are related - sort of like brother and sister! Write
the key signature of C major and A minor here: (ridicaloas[y easj)
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C major A minor

* Can you think of a word beginning with C and ending with A? QQ& O =

G major also has a relative minor - E minor. This means that 6 major and E minor both
have the same key signature. Write them here:
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G major E minor

*  Can you think of a word beginning with 6 and ending with E? Gmpe *

Finally, F major's relative minor is D minor. You guessed if... their key signatures are
exactly the same. Write them here:
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F major D minor

* Can you think of a word beginning with F and ending with D? _Bm_d_ *

10

The words you chose on the previous page will help you to remember which
keys are related to which. (The Eirst letter of Jour word s Eor the major kej and the last letter
is §0r the minor key!) Write your words and key signatures into this grid:

Remembering Relatives

=
>
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Relatives Word to remember relatives Hej S'lgnatvre Og these l&ejs
0
C major 'Cmy
is related to C @) ( Q ©
A minor =
pr
6 major o
is related to G(@FQ/ v
E minor Q,—#
)
F major (r‘yn b
is related to FOO O( 2
D minor > Em

So now you know EIGHT key signatures in totall Let's practise {uatch oot EOr cief c'\anges)I
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F major ¢ major D minor 6 major

1
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Minor Scales
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Since you know the key signatures of 3 minor keys, writing minor scales will be easy!

A FACT YOU SHOULD KNOW BEFORE YOU BEGIN:
The minor scales we write in Grade 2 are ‘harmonic’ minor scales.

Write the scale of A harmonic minor: % use a key signature
* write one octave going up

* use semibreves
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Good work! But guess what? The scale is not finished yeft! a0 99 [/
9 o S

In harmonic minor scales, you must RAISE THE 7™ NOTE! == -

Which sign is used to raise the pitch of a note? / Flat (circle correct ansuer)
So now find the 7th note of your scale and draw a Smr_p sign just before it

Write the scale of D harmonic minor: % write the key signature
* write one octave going down

* use semibreves

Vo N T
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Did you remember to raise the 7th note? / No
Did you also remember to count from the BOTTOM of the scale? No

Ty, e ied T i v sl s LCIENTAL
T QB Tt veer appeas  the ke sigatse

Semitones in Minor Scales
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Minor scales have a completely different pattern of tones and semitones to major
scales. This is what makes them sound 'sad’, while major scales sound ‘happy'.

Write the scale degree numbers under this A minor scale:
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Between which scale degree numbers are the semitones?

2 -2, 56 ,ad T -8B 1 (leam this thoroghly)

Mark the semitones in these minor scales, then name each scale. ({fint: It's out OE P\, £ or D miner)
Remember, if the scale is going down, start at the bottom - the lowest note is no. 1!
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How many semitones are there in each minor scale? >
Is this the same as major scales? YesANo

Where are the semitones in minor scales? Between _l__ -2)_ , _5_- _6_ , and j_-l |
13



Tricky Tones in Minor Scales
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First, write the scale degree numbers underneath the notes of this minor scale.

\-
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What scale is this? D Min0C  Mark the semitones in red - easy.

Now mark the tones in blue... but WAIT! You must not put a slur between 6 and 7 - as
you can see, it's neither a semitone nor a tone - it's a tone-and-a-half!

So, when you mark the tones in a minor scale, avoid the semitones and AVOID 6-7!

> DL0 YOU KNOW... There are only J tones in a minor scale, and they
% are a| in the ')Otfom ‘\alg O)E the scale. Tt looks ueir(}, bot it's correct!

Mark the tones in the following minor scales. {(uick revision: do NOT mark 6-1)

) & . | . .
o o i | 1 L
y 4 i I I 2 |
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7 ~r (@] o>
~ €y
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&2 l 119 77 = — - | Remem';er, t've LOWEST
[Y) | | ¥

\/ note is no. 1!

QUiclx QU'IZZ How many tones are there in each minor scale? 3

Is this the same as the number of tones in major scales? Yes
14

Accidentals in Minor Scales

Y

-
-

Minor scales can be written two ways:

)

1. With the key signature

P A 1L ©
. . WV AT LY ~
at the beginning {2y 5 o O o
®) O hdd /

Look! The ratsed Tth does KT

g0'in the key signature!
OR...

2. With accidentals instead of the key signature. There will be TWO accidentals in
this case - one for the key signature and one for the raised 7th. Check out E minor:

by’ A oy [® ]
V A P [© ] P
| fan) Py [@ ] ~
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The skarp Is nexd to the
F, Plva f’ve 7% s ra'lseJ!

Add the correct accidentals to these minor scales. Don't forget to add accidentals for
both the key signature AND the raised 7th!
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And now... add the correct clef and accidentals to make this an E minor scale {ocoaaahh):

=

[N

P o - = o
=

7 1 <y

o)

15



Awesome Accidentals

< —->

Add accidentals to make the following scales correct, then add a double bar line.
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Add a clef and any accidentals required to make this into a D minor scale

y
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103 = 77 i | i o, =
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Haye You Placet} Your accidentals DEORE the notes?
Quick Quiz:

What's the difference between an accidental and a key signature? Ag;c"sgignm&g_
Qppear n_front of the notes theu refer to o key sig

1lg us obot tha key Jd '
Which one of them goes at the beginning of the staff? KG% S\%Y\Ou\’ufe

16

Minor Scale Practice
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1. Write the harmonic minor scale that starts on the given note:
* add the key signature
* write two octaves ascending (3oin3 uP)
* mark each semitone with a slur
* complete the scale with a double bar line

~ 2L
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2. Write the scale of E harmonic minor:
* use accidentals - not the key signature
* write two octaves going down (think: uhere uill Jou start?)
* use crotchets
* mark the tones

* complete the scale with a double bar line

3. Write the scale of A harmonic minor:
* write one octave going down and then up again
* use semibreves
* mark the semitones with a slur
* finish with a double bar line

N
g Bt 2 IS -
1 1 1 1 1 10
y 4 L \ ] H 1
o | 1 ] 1
XV v 1 | S— H |
[Y) vob S—

\. - TN a1
S T S—— - o M
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D N o N =

-—

jor
m &

; ‘ See hou the instructions don't tell you to raise the Tth note? Yoo hae to
i

Write ‘Raise the Tth note and then Jou can fick 1t oﬁ uhen jov]ve done it!!

rememLer fo do his jOUrSEIE! A 5004 tactic is to a(M in Jour oun instruction.

17



Even More Practice (.

-
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1. Add a clef and any accidentals needed to make this an E minor scale.

QL

a2t

¢

=
Q

2. In the scale above, mark with a slur any intervals larger than a tone. (Hint: there are fuo)

3. Write a two octave descending (5oin3 doun) scale using this MINOR key signature:

start above the staff
use minims

mark the tones

* % % *

complete the scale with a double bar line

18
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4. Download some FREE manuscript from www.blitzbooks.com.au and write a heap of
two octave scales in the keys we study for Grade 2. That means 8 scales in total:

5 major keys: C, 6, D, A, and F major:

3 minor keys: A, E and D minor!

For each scale:

write two octaves going up OR down (or maybe a mixture!)
use crotchets

mark the semitones

* % % »

complete the scale with a double bar line

~

Scale Trivia

. >

Finish this one-octave descending scale. Then add the necessary clef and key
signature to make it a MINOR scale.

= 2\
Tie = 3

@—:ﬁ—lf

et

ko

Where do the semitones fall in minor scales? l—i , _5_— _@ and l—
Now mark them in the scale abovel!

In minor scales we musffla‘r‘ren/ destroy the 7th note (circle correct ansuer)
Yes/@Maybe

Does the raised 7th belong in the key signature?

Circle the correct D minor key signature

0 0 s

I ;1L /1 \ 1L
F\ o Py L p AW " o
[ £ WA (AN VT [ £ an WIAEN ] (S T
Y A4 AN AN 4 oV
Y] [y) [Y) Y]

Name the major and minor scales that have the following key signatures:
O 0 0
P2l A ¥
y AN 4 F 4
| fan) [ £ a0 Yy ~
A4 Y S
[y (%) (%)

Gimapr and E minor” CW\Q\}OVGnd Aminor  Emajorand Dminer

Fill in the missing information in this grid
NUmL%r 0 intervals
Scale Nopober o)c Semitones | Nopber OE Tones E
larger than a fone
MaJO( po 5 None
Harmonic minor 3 2 |

19



Intervals

=
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In Grade 1, all we had to do to name an interval was count up from the bottom note.
This is why we had to name them 'by number only’ (4th, 5th, etc).

But now we have to include more information than just the number. We must also name
the ‘quality’ of an interval (cocaahh):

There are three types of ‘quality’: major, minor and perfect.
Major scales contain intervals that are either major or perfect.

Harmonic minor scales contain all three qualities of intervals: major, minor and perfect.

Imporfant Eacfi Minor intervals are ope semitone sma“er than major ntervals

Look at these intervals above the tonic of D. The top note of each interval comes from
the D MAJOR scale:

4 13 Pay
Y 4\ O TG ] ~F
| Fan) 1L P [® ] ~7 kil

Py LS b
O e s O O O O O

perfect unison major 2nd major 3rd  perfect 4th perfect 5th major 6th  major 7th  perfect 8ve

Now look at these intervals. The top hote comes from the D MINOR scale:

3
0

- O €Y
O [&]

g0
o

perfect unison major 2nd minor 3rd perfect 4th perfect 5th minor 6th  major 7th  perfect 8ve

ﬂ\ings to Notice:
* The 3rd and the 6th are the only two intervals that are different in the two sets.

* The 2nd and 7th are 'major’ intervals, even in the minor scale. More about this later!

Unisons, 4ths, 5ths and 8ves

Look back at the intervals on the previous page. The unisons, 4ths, 5ths and 8ves are
the same in both scales. These are the ‘perfect’ intervals.

Unisons, Yths, Dths and Bues are exactlg the same in major and minor scales,
anrJ f‘\ej are aluays PERFECT. Un'lsons, qﬂvs, Oths antJ Bies are NEVER maJOr

or minor in (Lvahtj, in any scale,

When naming intervals, always write the quality before the number, e.g. 'perfect 4th’,
not '4th perfect’. The exam question often says 'name these intervals by number and
quality'. Don't get tricked - you must always write ‘quality’ first!

Name these intervals by number and quality (remember, urite (Perfect Oth’, not “Oth perfect‘):

©-

) n = 5 o 4 ) 0
y &) (@) y (@] P y A
| fan 1S [ FanY | s W= [ v [ 72 Wl
N (@) ANV ANSY 4 Yy —© ANSV AN €6 ) SY— O
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perfectS  perlect Be  perfeck S perlect$™  gerfect  _pedectt™

unison

) ) 0 N o fH o ) o
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ct ng@c’c sh perfeck ve PgM“ Pe[{gdr 5t ng_{gd Rve

uniSon

(heck this out... a PerEect Wik above 15 the Onlj Pergect
interval that has an accidental! (Well, in Grade 2 that 1!)



2nds and 7ths

2nds and 7ths are a bit tricky. Although these intervals are the same in both major and
minor scales (have a look back at p.20), they are not perfect, they are MAJOR.

Minor 2nds and minor 7ths do exist, but not in the scales we're doing at the moment.
All harmonic minor scales contain major 2nds and 7ths.

2n45 anJ M\s are aluajs MMOR even in minor lxejs. ”w'ls is because t'we

sca,es e are sJLUJj'lng JO not contain minor ans or minor Mvs.

Check this out:

%b no such t‘v'lng as a ( natural ina | major 0R a D harmonic minor
scale (remember hou @ harmonic minor scale has a raised Tth?)
% A T kv D st ALVARE b

Name these intervals by number and quality (remenber, urite ‘maler Id’, not Tnd maJor‘)

o KGN
Q 0 H S hoag H == n#—
I — s T . i A Y ——
1D —H oo HH——1D H—o—S &)
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Y, J o J J — o g ©

mogw 1" _majec » mo(}ov e mo\'}or ™ m:\ror‘fk‘

3rds and 6ths

3sz and Bths can be either MAJOR o MINOR. It Je\)em}s on the tonic, anJ
dhether 50“)& Jeahng dith a major or minor lsej!

When you're trying to work out the quality of a 3rd or a 6th, use these steps:

1. Look at the bottom note (tonic) and think of the scales that start on that note.
2. If the top note is found in the major scale, the interval is MAJOR.
3. If the top note is found in the minor scale, the interval is MINOR.

Let's try naming this interval using the steps below:
1. The bottom note is D, so it could be D major (F sharp, € sharp) or D minor (B flat).

2. The top note is B, not B flat. This must mean it comes from D major, not D minor!

3. Since the top note comes from the major scale the interval must be a ma')gr 61h.

Name these intervals by number and quality (remember, urite ‘maJw Bih, ot ‘Cth maler‘):

bo " b 1 J b )
A A —o HA—O v A A

| fan € [ & an ¥ [ an Y AN <) | fan Y | 8w WY
<V ANV ANY.4 ANV <) ANV 4 (@] ANSY AT ® )
y) [y Y] e e = e 1O

et g e Cood o
molpr & Minor 6 ingy 3 maw& mivoc B _mgfma__

) n h o A= 5 A
Ko S—o H— A H—o
o i——iG—G s G-

winor 3 mgépg%f‘* m%gﬂ" wminor 6 minor 3% méw g~



24 Intervals to Name (i f)
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HOT TIP:  The bottorn note (tonic) will a'uajs be Erom a Leg Jou have studied. I)f the tonic note s [, f or
* " 6 les ul“ e verf easy, Lecavse ue Onlj 5f0(}j maJOr lxeja on t'wose tonlm' W‘\en naming lnfervals
; o [, Fand 6, they wll alags be MAJOR o PERFECT.

L 2 3 4. 5 6
Q o) D o) f H to
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ANE"4 AR/ Y (@) ANV J ~ ANDY4 -S4 ANAY
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Mminor 6% mojor3*  majerT™ gerkettd™  minor 3% majoré

7 8. 9 10. 1. 12.
- H o s} H . H oo ls)
# — HA—O HA—o Ao p A——
| fanY (@) [ Fan Y | an ) Py [ v Y [ an ) [ e} ~7
SV ANV ANIY4 ~7 ANV P=Y ANIY \V
'Y) (Y] 'Y e ) ¢ O
. : o - s : i
sinor & f S maor Y2
oo ¥ perect® major T % rgjor £
13, 14, 15. 16. 17. 18.
Pe =a o
‘} H — ) © ) ) f) —
/! N A v H—— —
| £ anY Iy [ Fan Y N €y | & v DOV A V7 [ 7 an )
AND 74 'ELO() ANAY4 ANAY4 ANV AT @ ] ANV [® ] Y
e T rY) Y] e 7O o) Y]

19. 20. 21 22. 23. 24,
) L2 4= H H so
A . A ——JH— T Hf*
o —o—H(s & &) &—8—io——-
¢ = o ) o O o 0y,

major” [ ma'équ“d m@ Pfﬁgg B mojor 24 mg‘)gg *
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Writing Intervals

S
->

When you write an interval above a given tonic note, sometimes the note will need an
accidental. There's only one way to get really good at this:

LEARN YOUR SCALES AND YOUR KEY SIGNATURES!
Let's try drawing a major 6th above A, using the steps below.
1. Draw the note a 6th above (easy - the bottom note is no. 1).
2. The question says major 6th, so think of the key of A major.
Major 6th 3. A major has 3 sharps. Is the 6th note one of those sharps?

4. If so, add the accidental now. You're done!

Another thing you need to know is that special treatment is needed for a major 2nd
or major 7th above the tonic of E. As we discussed on page 22, all 2nds and 7ths are
major, even in minor scales!

No room Eor the sLarP/ﬁD&— ﬂse Tih s raised in a
pext to ’LLe f, 50 i 3085 %%D: minor scale s0 a sLar

|
uay over on tLe le)ct Major 2nd Major 7th b neeJeJ,

Now write some intervals above the tonic of E. Sometimes it's the high E, which may
mean you'll need to use leger lines for the top note. Don't be tempted to draw the
interval below the given note... it must always go abovel!

#a

‘) s f) o) S 0 ) s f) Q
s A—o—/ y— s 5
S~V ANV > ANIV.4 AN\IY4 :;.GO ANIY4 ANIYJ
e D Y] 'y, e e

major 2nd minor 6th major 7th major 2nd  perfect 4th  minor 3rd
25



Let's Write Intervals Incredible Intervals

<€ -

-
-

REMEMBER: Always draw intervals ABOVE the given note, never below! . .. .
QUlclx Revlslon OE ﬂﬂngs We Knoul
* Unisons, 4ths, 5ths and 8ves are pff Fec,i
1. Write a major 7th above each of these tonic notes. Don't forget the accidentals,
and you may need to use leger lines! * 2nds and 7ths are Mor__
* 3rds and 6ths can be m%or or _MiNor
) howo H o ¥ g 0
f— . —— o A —o Ao y
[ fan) N P an s [ £ an ) [ an Y Py
XD—0 H—o ANGY ANV, A\ A= AN
L2 ) DY) Y ) © = 1. Name these intervals by number and quality:
. o _ H o 4 A i S A
2. Write the following intervals using accidentals where required: i 5 2 <+ S & bS T2
5 Do 1 O—F A7, D D—-
[y} o e e o © [Y)
) H 2 owp
= . ~ < nat ) n . . #

minor 3rd  perfect 4th perfect 8ve  minor 6th  major 6th major 2nd 2. Let's practise writing intervals:

= |23
) S ) o —r 1y Y = 0
l’f‘!\ : 5& 1 5& [© ) lgh [ Fan Y [® ) "(A\
D A ) D) o D)
3. Write a major 2nd above each of these tonic notes {once again, 'eger lines may be needed!): v X

perfect 5th  major 3rd major 6th  perfect 8ve major 3rd minor 6th

7l mi— A 7 A A
) D G D D — -
=~ (@
o v v o o= o o 3. And now, name these intervals:
i e B o 0 H H
A H—O H— A H—
(o ot 65— 8 —Hilo——=
DID YOU KNOW... Minor intervals are one semitone smaller than major intervals. fn intenal og o Y] 'y, Y] ) [y,

-©-

a major nd s actoally a TONE. This means that a inor 2nd is actually a SENITONE. Major 4 .
@ and minor scales both Lej'ln dith a TONE = that's NLJ Unds are a'uajs maJOr! P.CL‘&Q&_LLN M%'QLQK M M M minor 3°




Revision of Stuff So Far

1. Write the scale of A harmonic minor
write the key signature
write one octave going up " o
Y 7 AY P} s’ o) M 1]
. il D 7 T~ [@) = 1t 1
use semibreves 7 = -+
~—

mark the tones

* % % % *

complete the scale
with a double bar line

2. Name these MINOR key sighatures:

DS

28

E_minor D_minor

3. Write the following intervals above these tonic notes:
) 4o O p = H =
A= A HA—o 7 A o

[ Fan) P e es [ £ an} [ &2 N [ Fan )

NV ~F A4 Y ANIYJ ALY/ X @) AN

[y, [Y) [y, [y, v S )

major 7th  perfect 4th  major 7th minor 6th major 6th  perfect 8ve

4. Do we ever come across minor 2nds or minor 7ths in the keys we study?

Yes // Maybe (circle correct ansuer)
a4

[ f an WL

5. Write the key sighature of A major here in both clefs:

Tonic Triads

<« o

As you know from Grade 1, a 'tonic triad’ is a chord of three notes built on the "tonic’
(scale degree number 1).

For Grade 2, you need to know how o name and write tonic triads in minor keys as well
as major keys. This is easy! Here they are:

2 2+ :
1 o P 4 (@]
D AW > V AW <)

[ an YN <€) | £an S [ FanY [® )

ANBY4 4 A4 S A4

e o [Y) = )

D minor E minor A minor

When naming the key of a tonic triad, you need to check three things:

1. The bottom note of the triad (alse knoun as the oot

2. The key signature (1§ 3iven)

3. Accidentals (if 3iven)

Now name the key of these tonic triads.
) WE - ) 19 4 f) 4 Ha ¢
AET—8 A i | et 1 it

| & an YA | Fan N [® ) [ 2} &S [ v} (T

AN 4 Y <) ANV 4 ~ ANV 4 LY O
[Y) [y, © [y, [y, [Y) b

D M(:'}of D minoC G moLJ\of £ _oinoc A MﬁjOf

Sometimes tonic triads are written without key signatures. The good thing is that
they look just the same (PLeuf), except for two: D major and A major. These two need an
accidental because of their key signatures:

J

g

i pa 8 783
[ Fan <) IS ]
NV <) 116D '\’yn 23 -
[Y) © O ()
D minor D major A minor A major

29



Terrific Triads

A

->

1. Name these tonic triads. Remember, check the bottom note and look for

accidentals!
9 > 1€Y €
y 4 Py & 1.€) [@ ]
| FanY % bad [@ ] K ® ] <y [@ ]
NV b= 4 ~F <) 1L€)
Q) -~ O UK S J
E minor G major () minor A eapr O mojor A minor

2. Write these tonic triads with a key signature. Watch out for clef changes!

§E§ 4t ae H - o)
[} o) p 4 C\-.R_ =4 N ot [e»]
fav) F O P y AW hdll X Pt hdll Fcd [@»]
5 7 = &y 7 7 #H = 7

ANE"4 b= NV ) = el

[, = () =
A major G major D minor D major E minor
3. Write the fonic triads for these MINOR key signatures:
9 e 9| n
1 . oF Cl p’ 4 [«] Pl
|29 hdll £N”) [ @) y AW (@] £\ ! Py
| & an 1L fan) 4 ! | fan [av) | fan) >4
NV £ A4 NV >
[Y) o [Y) Y] et
4. Name these tonic triads:
_9 <X [© ) p 9 > I X
y 4\ i IO y AW Z b4 F D
xS € V4 | fan) | fan) o4 y4
A4 (@) N PN A4 ~7 O
o < ¢ g ¢ g
D minor (O mayor A_mayor N ma\or C e

30

Did you check the clef?

Timed Test Tione:

Time yourself doing this quiz. Do it as fast as you can, then record your finishing time
above. But... guess what? Your teacher will ADD ON 10 SECONDS for every mistake
you make! It's fun to go fast, but more important to be accurate. Start the clock!

1. Name this tonic triad: & (; ﬂ)QS or

2. Semitones in minor scales fall between ; - i_ é - _6_ and l - __v& .

3. Continue this scale up one octave and down one octave, then go to question 4.

£> | ] ,

I Py D#e—% — f | t
7 = I —— S o B w— —
(s = 11 —7 1~ 7/~

4. Add accidentals to make the above a major scale and mark the semitones.

5. Name these intervals by number and quality. y) ~
4
‘Q

pa #© X—ts A

[ fan) [ & an L d [ 2w

NS4 o ANV (@] ANAY4

[y [y, [y,

Moec 1% perfeck 4 Mdjor 3

0

7. Write an E minor tonic triad with the correct key signature:

= 23

Z

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

After marking this with your teacher, tick one of the following:

[ 1T made no mistakes! | 1T made _ mistakes.
Leep My time OE ' My new time 1

31
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Box Puzzle

- -
- >

Fill in the answers to the clues below, and find the secret message running down the
page... it's to do with what you have to do in minor scales!!!

tloln|ilclXlc]ilald
+lolnlelalnlalaln|al V| €
Sle|mft] ¥l on|e|S
riali]s]eld
Flil€ltleleln
ple|vr|fle|c]s
thhirlele|sihlalriplS
glulalvlelr
Y4
me |z lziolsltlalciclal+|o
dlol+¥leld|clrlol+|clhlel+
steimli|blrielvle|rlelS |+
SlefvigIn |+ s
My hjopv[Sle|c|on]d
olcliclildlenx]al ]S
alblolvle|¥nle |s|+|alv]e

1. 3-note chord built on scale degree no. 1 (2 words)

2. Interval between the 6th and 7th note of a minor scale (4 words)
3. Things which occur between scale degrees 3-4 and 7-8

4. In minor scales, the 7th note is always raised

5. Number of notes in a two-octave scale

6. Unisons, 4ths, 5ths and 8ves are ck

7. The key signature of A major contains 3 §bm¢e$ (2 words)
8. Half a crotchet

9. Italian term meaning moderately short and detached (see page 62)
10. Note worth one and a half crotchet beats (see page 35)

11, Another name for a whole bar rest

12. Seconds and SeuenthsS are always major

13. Another name for a semitone (hint: smaller than a major second)
14, Sharps, flats and naturals used outside the key signature

15. If writing a two-octave scale going down, start Q4 bove ihe Sj Qave. (3 words)

Time And Rhythm

Let's revise some first grade stuff.
Can you fill in the missing information in this table?

Ry
-

Nofe/rest Name

NUN‘JEr OE Leats

. Cvotrchet

\

o YY\\ Y\|\ M

. Chotred,  minim

Semibbreve

o)
>
i

——

( A(O;k(bfé rest

O
ﬂ Two quavers

—

— MW rest

o

— — Zieﬂ LY eV rest or whole bar rest

Any number (depends
on fime signature)

q/-U\O\)&’

s

‘/ QUQNEYT rest

I2

Quick Question: J + =+ J + .b+ 3 + ﬂ + 7 = 9 s

5

DD YOU KNOW... A uhole bar rest is ke a joker in a pack of cards.

sllence, no matter uhat the time aignatwe is)

[t E'l”a upa uhole bar oE
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Quavers, Semiquavers and Rests Dotted Notes

.

S
> -

Quavers are worth one half of a crotchet beat each. Single quavers have one tail, and A dot next to a note makes it longer. The dot equals half the value of the note.
groups of quavers are connected by a single beam.

=3 Jj-l 3= m-llil-
Ob-i =z+3=1 = g+3+3+3:=2

So J is the same as J + J = 3 beats.

I+ works the same way for a crotchet: J is the same as J + .b = 13 beats.

DID YOU KNOW... A dotted crotchet cannot appear on its oun in
(S'ImPle) time (more about, this later). [t most be fo“oueé by quaver or
quaer rest to make up tuo crotchet beats, e.g. J Dol y

Single quavers always have their tails going forwards, like this Obor this D . They

never look like this q'or this d.!

Semiquavers are worth one quarter of a crotchet beat each. Single semiquavers have Now fill in this table:
two tails, and groups of semiquavers are connected by two beams.
ote/re ame NU e OF ed
ﬁ:% ﬁ:%Jr%:% odog cieieiedc Note/ rest Na ‘*‘L',L s
ﬁ Semiquaver \I“i'
W""“ H T m L ZL A L IL D oo 'r\ | 7 Semiquaver rest I/H
G of Ip: a5 £ beats and @@@e has | beat. Uon t mix them up.
\
ﬁ Two semiquavers / o)
A quaver rest ./ is like a curvy sort of number '7'. It has the same value as a quaver: Four semiquavers ‘
oo
one half of a crotchet beat.
A semiquaver rest is like a quaver rest with an extra hook: ‘7 It has the same value as m Four quavers 3
a semiquaver: one quarter of a crotchet beat. \
, J Dotted crotchet ‘ /o
Trace and draw some quaver and semiquaver rests here: .
J JS Dotted crotchet and quaver P
A 4 A= 4 ~7 ~ < = X7 L~ A 4 .
f +—F + A + —F——F—+F

DS, You uon't be tested on semiquaver rests in the exam, bot it's 3ooJ o knou hou to draw them anjuaj! OU]CL QUest.lOn: ﬁ + 7 + o000 + JJJJ + J' + J~ Ob = lﬁeats
3
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Completing the Beat

Single quavers ( -b) and dotted crotchets ( J.) are incomplete beats. They cannot be
left on their own - they must be made up to whole beats with a quaver or quaver rest.

Never leave a half beat 'stranded’ without its other half! For example:

/—\ This quaver has been left stranded! The quaver

3
X 4 ) 3 3‘ 7 rest should have followed immediately, not left
until the end.
\/ 2 J\ v 3 g Now the quaver rest is in the correct spot. The

quaver has been completed with its ‘other half'.

/’_\

4
x 4 J" g )D rest. It must be followed by a single quaver rest.

/\ The crotchet rest has been split into 2 quaver

\/ 2 J 77 ﬁﬂ rests. Now the dotted crotchet is not 'stranded’ -

We can't follow a dotted crotchet with a crotchet

it is followed by a quaver rest to make up 2 beats.

MPORTANT ACT: o). and &) ae ot whole beats, T Simple” time
signafures (% , 2 , f: anJ C), ﬂsej must aluajs be EOHONB(} 'J;{ ob or

All of the following bars begin with incomplete beats. Using rests, complete each beat
before moving on to the next - don't leave half beats stranded!

>

!

> ) [N N N
] N7 > N g
o —— = {7
f € — et
% 7 J (W] rd
L}
i 4 L -

The Triplet

3
A friplet looks like this m or this . It is equal to one crotchet beat.
3

The formal definition of a triplet is:
‘Three notes played in the time of two notes of equal value’ (learm thi!)

o JT3 .00 ) .

A triplet ALWAYS has a number '3' on the top or the bottom of the group of quavers.
If there is no number '3, then it's not a triplet!

Triplets only ever occur in Simple time, where it's the only 'legal’ way of grouping three
quavers together!

Fill the following bars with triplets: (don't Ewget the nupber ‘)

3 3 3 3
[ ) 1 ] { f [ N
; II y £ 1 | | T T | ! T
2 71
3 3
3 3 3
e —1
1 - i ) I ——
v BEEe e e 222
3 L]
Insert the correct time signature for these rhythms:
3 3
I 2 . N
Fand A | 1 e I ] | WY ? 2
7 7 7 ‘A
3 3
44— i 2 o < N
& Z U
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Simple Facts

. =
o< —->

2.3, % and C are all 'Simple’ time signatures. This means each beat can be divided info
two: J = ﬂ In Simple time, the strong (S), medium (M) and weak (w) accents fall on

the crotchet beats. Fill in the missing information here:

formal De)t'ln'lfion Accents

Time signature Meaning

Two crotchet beats per bar Simple Duple time Sw

- [Inrtg crotchet beats per bar |  Simple Triple time Sww

Four Cvotchetbeats per bar | Simple Quadruple time | Sw M w

(@ aling ERIEET

Four crotchet beats per bar | Simple Quadmgle time | SwMw

Circle Troe’ or ‘false gor the gouou'lng statements about Simple Time:

True /(False)
(Truey False
True /False)
True /(Falsd
False
CIruey False

* There are nine planets in the solar system (o this is not reaug abost Simple time) True /

bood work!

* A dotted crotchet is a whole beat in Simple time
* A dotted crotchet must be followed by ) or 7
* Tt is OK to have a triplet without the number '3’

* .J.. has the same value as ﬂ]]

*  Two weak beats may not be grouped together

* A whole bar rest (

i

) can fill a bar of any time signature

38

~ Meet g Time

Up until now we've only had time sighatures with the number ‘4’ on the bottom, e.g. 7.

2, and 2‘ These are ‘Simple’ time signatures - let's imagine they're from Earth.

Well, § is a ‘Compound’ time signature. It's so different, it's as if it's from MARS!

The '6' on the top means that there are 6 beats in the bar, and the '8' on the bottom
means that the beats are quaver beats. (In fact, in & we usually call the quavers
‘pulses’ rather than beats.)

BUT... the proper definition of g is NOT 'six quavers per bar'! (Contrarj to Poyular opinlon)

Let's compare the time signature of 3. It also has six quavers per bar, and they are
usually grouped in twos, like this:

This grouping shows us three crotchet beats.

But g, which also has six quavers per bar, is very different because...
THE QUAVERS ARE GROUPED IN THREES! ([ncredbly important)

So in &, a bar full of quavers looks like this:

This grouping shows us two dotted crotchet beats.

‘Compound’ time means dotted beats. In g there are 2 dotted crotchet beats per
bar. This means the definition of g is ‘Compound Duple'.

:z): versus g 2 Simple Trlple g ComPOUnJ DuPle

JA0J S

6(00Ping OE q)uaver\s

JJ. J .

beafs sLOun
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is from Mars

S
>

-
-

As we discussed on the previous page, & is incredibly different o the other time

signatures we've studied. The grouping is all different, and we have to switch our

thinking...

GrOUPing
Rules

Siople (Earth
Plain, undotted beats

CONPOUnJ (Mars)
Dotted beats

GrOUPs OE

OUavers

%, :Z 4 and C live on Earth,
where quavers are grouped in

TWOS.

8 comes from Mars. It looks

completely different because the

quavers are grouped in THREES.

Doted
Crotchet

On Earth, J is worth 1% beats.

On Earth, J must be followed by
J’ or 7 to make it up to two beats.

On Mars, J does NOT mean 13
beats.

On Mars, J = 1 beat. It fills up
half the bar.

P,a'ln
(rotchet

On Earth, a plain crotchet is one

whole beat.

On Mars, a plain crotchet is NOT

a whole beat.

J must be followed by ) or

S’lngle

Ouavers

On Earth, we cannot leave single
quavers 'stranded’ without their
other halves.

JS must be followed by ﬁ or ¥

On Mars, a single quaver must be
made up to a dotted crotchet
beat. It must be followed by two

more quaver beats!

(S'lmp'e) means Plain, indotted beats. (COmPOUnJ) means dotted beats.

40

(Accem‘s and Grouping in g

-

The six quaver pulses are accented like this: "'STRONG weak weak MEDIUM weak weak'.

§JJJJJ) 8 )0 &) U

S wwMww Sww Mw w

S ww Mww

Groups of quavers must begin on a strong or medium pulse. It helps to think of J asa

‘group’ of 3 quavers and J as a ‘'group’ of 2 quavers. Here are some more rhythms:

v §) vt g1 v [T

Sww Mw w Sww Mww Sww M w w

Notice how crotchet rests only occur on strong or medium pulses. Weak pulses only
contain quavers or quaver rests!

HOT HP Crotc‘»efs anA crofc'\ef rests maj NOT Ea“ on ueaL Pﬂlses. ﬂ\at]\i ‘JeCaU\Se J
M anA 3 are (grOUPs) OE 2 Quaver Pvlses!

Write the accents (S w w M w w) under these rhythms.

§. v 0 ghv ) )

Sww MW W SwwM w

§2 NJJ)

SwwMww

Rhythms in g must be clearly divided into 2 halves. Draw a dotted line down the middle
of each of the bars above, e.g.
P8 JT)

Now it's time to get creative... compose 4 bars of g time here. Check your grouping by
writing the accents and drawing a dotted line down the middle of each bar!

\

IS ouilewiB i DR

Mww SWWMww $uo W iMww

\
B !
' 1
Sw MW w) SWU\J !
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) Completing the Bar in g

r -

When completing the bar, remember the accents for the quaver pulses: Sww M w w.

HOT TIP: Quaver rests should be “grouped” into @ crotchet rest 1 they start on a strong or medium beat, e.g.
Qe e 2 not v

Complete the bar below with rests:

1. The crotchet is worth 2 quaver puises (S w). Follow it
with 7 to complete the first half of the bar.

2. Complete the second half of the bar o (f_ 5
with 2 i
Good work! Now let's try one that starts with a quaver:
1. The quaver is a strong pulse. The next 2 quaver pulses
are weak, so you can't write g, you'll need to write 7 7
2. Complete the second half of the bar . " >
) [ A4
with & ¥ =
Complete all of the following bars with rests:
=== —
{ 1
‘ — t Iy
=——3F— — P
. 4 -
o — e B —
v‘ — T ~7 N
!

Now check your work by drawing a dotted line down the middle of each bar. Make sure
you can divide each bar into two sets of 3 pulses each!

Complete These Bars

<& -

In the exam you'll be asked to complete the bar in different ways. You must be able to
switch your thinking from 'Earth’ to ‘Mars’ depending on which time signature you seel

Simple (Farth) - 2. 3. Fand COmPOUnJ (Mars) — &

*  Make half beats up to whole beats * Remember SwwMww

* Quavers are grouped in twos * Quavers are grouped in threes

*  Triplets may be found here * Triplets do not exist here

* Dotted crotchet = 13 beats * Dotted crotchet = 1 beat (or ﬂ])

1. Complete these bars using a rest or rests in the correct order.

A LN N
W ; ~f
+ { {
3

A \

Y [ ] - [ ~ >

17/ 1 1 Fanl | b =
> g s -

2. At each place marked with an arrow, add one note to complete the bar.

} ! ! )

<+

)
7

i
B i

[
VA

f‘;.

DiJ Jou see t';e anacr05is?

3. Complete these bars with quavers correctly grouped

-
-
ol

= :
= —

N

N

\——-

43



44

Fix Thesel

S
=

The following table contains bars of rhythms which have the wrong grouping. Your job

is Yo write the correct versions in the 'Fix it Up’ column.

Handy Hint I:
Handy Hint IT

sound.

You may not swap a note with a rest, because that would change the

It's fine to swap two rests around. Either way, the sound is silencel

Wrong X

ij Is it urong?

fix it UP.I v

occurring on a weak pulse

6 D D D Quavers must be grouped in| & m
8 threes in § 3 ﬂj

3 J - Can't have a minim rest 2 )

4 over two weak beats Y % E

4 D m D Can't group 4 quavers over 4

4 two weak beats Y ﬂjj J—l—l_]
3 J\ g g v Quaver needs ‘other half’ | 2 J\

4 quaver rest must follow L+ \-{ E %_
2 - A whole bar of silence is | 70

4 shown by a semibreve rest | -

6 Can't have a crotchet rest | é

8§ ¢ ¢ § 1Y

)
| I
I
| I

Can't have a minim res+
over two weak beats

O
«
o o
s

Dotted crotchet must be
followed by a quaver rest

¢ olor)
=
~e
~e
~e
~e
~e

The 4th and 5th quaver
pulses should be grouped
into a crotchet rest

Deciding the Time Signature

Most of the time it's easy to figure out the time signature of a given rhythm or melody,
especially if there are some giveaway clues:

= A triplet indicates % Z’ 4 or C. Triplets do not exist in g.
= A group of three quavers (with no triplet sign), means it's definitely g!

=& The grouping of notes and rests gives clues when deciding between Z’ and g

Here are two different examples of ‘grouping’ clues:

'/_—\ This crotchet, rest is a g’lveauaj cloe for g If this

N
3
7

£ |
»- r were 3

T

tl\ere uOIIH IJe two q’Uaver rests,

?\, S— |\' i | is SfouPins is @ SiveauaJ clue )ro( Z’ IE it were
.I Vi 7 I

8 the three quavers would be grovped together,

Add time signatures to the following bars of rhythm:

=+ g t
& S ¢
3
p] I r | A\ N ﬁ J— I Y Y |
o] | I | N & L] 13 1 I I ] I |
177 Vi 17 H
e " [ e
Add the correct time signatures to these melodies:
XY .4 Y | I | |
ey ¥ I o B i I — 0 0 I o f f
—Z (2 I P= i ] '_‘L_!L_. —5 =L -
b I 4 < ;

| 108
L ]
\IiR

[

Y
=

N
A
!
NI®
Ne
L )

~
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'Time' to Practise

Ny

-

1. Add the correct time signatures to these melodies:

— =

%zﬁ S e s

P> e bt | L] |
[Y) - ~_ |4 ——|

\ o = £ »
e PPt AR
Zhy—= . —
] | 14 | I I

2. State whether these time signatures are simple or compound, and then whether
they are duple, triple or quadruple. (This i a verf Eoma| vay OE safing (expla'ln these time signatures in fu”)!J

S\VY\P\Q _Ffip\e

ooy AW

Compoundl Duple

3. Add a time signature and the missing bar lines to this melody:

)

# . [
& ] i

il

N
e

A

TTTO
),,./
T
15k )

4. At the places marked with arrows, add one note to complete the timing of the bar.

o — e s eeelo

I | | /7 I, 1 L/ | i i | I |

=== 14 —r—1 i N—— ]
5. Write the rest which fills one bar of silence: —— -
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Rhythmic Revision

- >
Complete each bar after the given note with rests in the correct order.
3 |
[ J /) >
' 1 7 i
1 C ¥ <
[>] ~ 4 ~,
3 S >
- C 7

2. Add bar lines to the following rhythm: (emember it's O {o ‘ot thraugh ties and slors and don't Ewget
the double bar line at the end!)

)

——]
ey

N

(@]

N

3. Aft each place marked with an arrow, add one rest to complete the bar.

Uﬁ
~\‘
(\m’ -—

4. This time add one NOTE to complete the bar! (satch ot Eor the anacrusis)

l } ) )

N

~18

5. Add the correct time signature and missing bar lines to this melody:

Y
\

Ne
Ne

‘1
Y
-

s
{o
Y,



Timed Test II Time:

Once again, time yourself doing this quiz. Do it as fast as you can, but remember your

tea

8.

cher will ADD ON 10 SECONDS for every mistake. Start the clockl

Write the time signature that means compound duple: %
0
P4

Name this interval: s minor 3™

Y &

=
. How many semiquavers are there in a dotted crotchet? é V)‘\,
\“ 2,

¢

Complete the following bar using at least one triplet:
2

1 4
| 1 ]

o SR

Q
Complete this MINOR tonic triad and add the key signature: —9—1?—8——

In minor scales, the interval larger than a tone falls between which scale degrees?

_E__cmdj_

\y
/4

MY

s
1

T
Complete this bar with rests: i
r

Add accidentals o this A major scale and mark the semitones.

.

[ fan

Vo } VAN %ﬁj Vs

48

3 " —_—
Y, = - =

z (He T =
STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

[ 1T made no mistakes! [ [ T made  mistakes.
Ixee? My time O)C ! MJ new time is

Word Search

-

The answers to the clues at the bottom of the page are hidden in the grid!

o

TIE[N\OMMIR|F|A|O|N|O|T|W
E[m|o|RIAYS [MME|T|E|R|S|E
H{w|J[R{ITDNAAN [L[T|M[E
c{o/m|P[O]U JW\R|E|L|E
NS [ERARKA [BTNENDNOYH W T
Ol | THENE | JTRENRY T | E
R| EYENRLNH| N OXT |[WNNE |B|R
clJ |RVFRANN | RNATRRYCNA | |
D|R|L|TNRIAIN | ™NTI | DY\CLE
ElLPTUlDIEXDP (M INS) NN
Tlo|o|v]|J | TNPYENI [ SRR
T[P|T|D|J[D]|O[TINE/DREYT
oflE|mM|P|R|E|E[I|T|D|T|P|O
D/A| I [RIT[C]I[N]O[TIR|D|N

—

Symbol used to fill a whole bar of silence (3 words)
. Chord built on scale degree no.1 (2 words)

. Unisons, 4ths, 5ths and 8ves are this quality

. 2 means Compoundduple

. Name of this interval (2 words)

. In minor scales you must _raise the 7th note
. Name of this sign: st'j
. E minor is the relahve minor of G major

10. A note worth 1% crotchet beats (2 words)

2
3
4
5
6. Formal definition for 2 crotchet beats per bar (2 words)
7
8
9

11. Simple time has undotted beats, compound time has dotted beats
12. 2nds and 7ths are this quality

The BlitzDook
OE Hweorj
Games Las

mMore games,

Pvzzles ané

E'askcarés!

13. You must raise the 7th in minor scales with an accidental
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Naming the Key: Major or Minor?

Melodies are always based on a certain scale - this means they are in a certain ‘key'.
There are three clues to look for when working out the key of a melody.

1. The key signature - this could represent major or minor;

2. The last note - melodies usually end on scale degree no. 1, the “fonic’;

3. Accidentals (uaming: a NGIOJJ can still be in a minor Lej even iE there are no accidentals — check the last note).

Look at this melody:

I - . _ :
e =t " Frais
o) | L4 < = ¥ | = <
Kej 513nature inJicates <N0 acciéental Eor MEIOJJ 6"45 on a 6
6 maJ'or o b minor ra]aeJ Tih 50 must be 6 maJO'

Here is another melody:

3 — e

v ! |

T
___“'

1
1
==

Which two keys share the key signature of B flat? £ ma\'}or and _D minor
What is the last note of the melody? LD  Are there any accidentals? ies
So this melody must be in the key of {2 minor

Name the key of these short melodies. Remember your three clues, and check the clef!

Kejt E minor

fey: A_minor

. bl
’.:""" ———+— T - i § “%LF&AOL
t = —— '

Name These Keys

@/ Clef checked

@/ Key signature checked

@, Last note checked

\uB

N

CC;SND

| 108
L3 ' g

s S

Cil

ik}
M

AL )

NS

[l

]

L3N

L THER
™

N

TTe
TTT®
| 1HEE

~Ie
17

£ )

e
~

T

P

N>
o

N

L 1R8N

\Iig

J N eﬁﬂ

\d

e

T___

[E/ Accidentals checked (Wamingz a melody
that has no accidentals coold still be in a minor I\ejl
Nuajs cLecl\ t’\e Iasf noie.)

Key: = Moy or

Key: D _minoy

Key: © ma !' or

Key: G ma ')Qr

Key: A _minor

Key: E minar

Key: A minov"



Very Important Revision Test

-~

1. Write these intervals above the given notes.

Az

) e D 0 0 0 so D
A — N i A i A s
[ Fan) [ & WA [ 7w [ FanY [ an Y O " —
<V ANSYJ SV SV ST ) —© H—
(Y] o © Y S [Y) e Y,
major 3rd minor 6th  perfect 5th  major 2nd  major 7th  perfect 4th
Q , -,bp_ﬁ:t £
2. Name this scale: — 5 D miner A

[ £an

ANDY 4
[y

3. Write the following tonic triads with a key signature.

5. Make up three different rhythms using three different time signatures below. Each
rhythm should be four bars long and should feature a variety of rhythms.

Be creativel (bj the way, you won't be asked to do this n the exam, lt)sjvst fw EUn!)

/e

V4 0 7 T 1N | NN 1 H ! 1 N ] 7
a) @) N T | 1T 7 T O — I ) i
S ™ —p A——— i — e — i —
* e SN | ° |
) f—r—T1—1 1 T I I —7 —1 [ 1 ] N t
b) i_}E { 1 —1 1 1 B} 1 1 7 1] T I pd Il
1 A e N | I | e v iy B
C) T I ! 1T | 2 = 1 1 ] L 1171
| ¢ I 111 7
S - YErY.

6. At each place marked with an arrow, add one note to complete the bar.

!

l

!

H

n -t

| Fan X4 @) [ £an) M fan ]

ANDY4 (&) A4

() [

F major E minor A major

4, Name these intervals by number and quality. /{z
) Y, NP S, U, WS W P
> A—8 S —o y y H—7O

[ an P [ Fan Y [ FanY [ anY (@) [ an [ an )
NV 5 ANDY4 ANV 4 Y ANV 4 [ @ ] ANNYJ

[Y) [y, Y, [y, [y, Y,

Minor %  Majer 3™ fecfect 1™ Minor 6% Perfect tue Major 3

5. How many dotted crotchets are there in a dotted minim?

52

2

A

-

3

[
—

7. Write a suitable time signature for compound duple time: @

8. Write the scale of E harmonic minor

* use accidentals - not the key signature
* write two octaves going down
* use minims
* mark the tones
* complete the scale with a double bar line
Bip e S S~ —
Y R M ] ETr— 1
J O L 1 7 — 4ty 1 1 1 Y
Z | Ean e = | ! i 1 1
<= 3
\-’

Total:

53



Transposition

-

Ry
-

This is exactly the same as Grade 1 transposition. (Yaj!) The only difference is that now
you have a wider range of keys to transpose to! We always begin by deciding the key

of the melody and writing in the scale degree numbers. If you're a bit stale with scale

degree numbers, go back to the melodies on page 51 and write them all inl {chat fun)

be)fore transposing:

[ Check clef of original melody
(] Name key of original melody
[ ] Double check major or minor
L] Write in scale degree numbers

[ circle 'up’ or 'down'’ in question

A)Efer fransyosing, check:
[INew key signature added

L Time signature added

[ New notes and bar lines added

[ Accidentals added if necessary
(minor keys only)

[] Stems adjusted
L] Phrasing added if necessary

L] Shape is exactly the same as original
melody - leger lines used where needed

1. Transpose this melody down into D minor (sse the checklists aboie):

_Q-H- A =
o A 3 )
:%ﬁ:’,- =t~ E 2 =
sl
3 %S30 23 91 2 U gy S5332 9 1 351
Asr—F— PN+t I o
@L—J—‘—'—Qﬁjju - ’l‘x.;'é lijl\%. l':*{
J o

54

2. Transpose this melody up into A minor. (This me|ng takes op tuo lines - Jour transposition should too)

i
T
T

i

. | |
I : e ——
22 22 V7 6| 4t 33, 2 57T |
- --
cEEEE= e L
» \l 3 —~ | 1

49 ﬂu# 2 I % N
e 7 e
NV /. LZ )] A
[y, 4 4
565 1 3 2 ¢ 5743 2 |
I-*Hi:.. V4 1 1 ™ e | n, ~,
1L - A | y 9N 1 < s
- 1 r o 1 1
o = -
4. Transpese this melody up into D minor.
_9 | — —_— . - el
[ ) % : { | I | > — 1 [ ] =
L. = Vi
" |
o : | .
\ 57 12132¢ w20+ 1 |
n — 79~ £
* ) i o7
L 1 || ¥ 11 7
| | | ~ d
J

T for more Pracﬁce in transpo{ltIOn g0 o wrblitzbooks.com.av and dounload gree worksheets!



Yet Another Revision Sheet

Transposition and Other Stuff

1. Write the tonic triads for these major key signatures:

HOT HP YOU u'l“ never ‘Je aﬁl@(} to fransPose Erom a maJOr lxej to a minor Lej MaJOr 5fajs

’»W\" {
m major, minor stajs minor!

_9 ) 4 p Q
] p’ AN )
V AW2Y Cl V AN Y y AW <)
[ FanNd [an) | & v YA [e] oy
SES SES S
1. Transpose the following melody down to A major. Remember to add all the details
like phrasing and dynamics.
) . ! P —
/__\ — 2. Complete this bar using rests: - e
-4 X » ] ] . |
Y A L>7 Py |
E a || /7 ) r ‘I
[ -
p cresc —_— )
3. Transpose this melody down into C major.
A T - e /_—? P /;lj_‘\ ,\;G 5 N A} =
S A 7 e s I S i f o I "8 1 ! - < N —
7 V4 S /2N ot e % i
L4 l/] o D)) E
P cresc. >
2. You have two jobs with the following melody: K i R ¥
17 § I 7 1
P | ol

* Transpose it up to A minor

=

289

T

Q

=

*  Fix up all the grouping mistakes - there's one in every bar!

4. H,O is commonly known as __( notev (ot strictlg part of the Orade 2 sgllakus)

ﬁ% ) < ¥ g oo NI o F
B e T T e i e £ o 5
[ ¥ & I Sier®
- 5. Complete this minor scale and add accidentals where needed.
£ 4
o » e ~— \ p Firte o .
E { ¥ [ 1 o | < 1 \ 1 {
\ | 7 = = i 4 ' 1 1 1
See= — S G =1 ]
J d ry) t ¥ T -t
He-

3. Name this interval: . Now transpose it up to D minor!

6. Explain in full the time signature of 3 Taree crotchet beatS per

mgganc_jﬁ" bOt(';

simple. tviple
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Marking Accents in Poetry

Here's a rather famous verse. The upright lines show the accented words:

Tuinkle ftuinkle [lttle
lHou Iluont}er u'wa’c Joulare

So, all you have to do to mark the accents in poetry is place an upright line just

star

BEFORE the important words or syllables in each line. The accents must occur at
regular intervals, and there will often be four accents per line of poetry.

Try marking the accents in the second line of poetry above.

That was easy, wasn't it? Now let's have a look at the next line of that verse...

\UP %ove the IuOrH 50 FISF

This is a bit trickier! In the word ‘above’, the SECOND syllable is stronger, so the line
will go between the first and second syllables, like this:

a LOve

Here are some more words where the line goes

Can you think of any more?
Write them here and ‘mark

the accents in each vord!

somewhere in the middle of the word. Have a go!

alphosgh tremendous

avival

r'\'ln})ceros mo[) estic

amazt
sfaclnafo }“ =0

“\e AnacrUsis in Poefrj

Quite often the first word in a line of poetry is not accented, because it is not
important. Words like ‘the’ or 'a’ never have an upright line before them - it's as if the
line begins with an anacrusis!

Mark the rest of the accents here. Remember, the accents must be regular!
% Jhe Eootsteps arelgetting ext{remelylloué
% A ‘L'lg LrONn\Lear hves]JeeP in dwe}cave

Guess what? Sometimes there can even be TWO unaccented words! Finish these:

* IE the | rain pours l&oun We u'l“lcome stra'lg‘vt“wme
% When the

cake is \cooLeJ We ¢an Ieat it ("P

\ DID YOU INOW... uhen marl{lng accents, there s ngen more than one
{:J} correct ansuer! Jusf mal&e sure it maLes sense uLen jOU 5ay it GIOUJ, an(} flvaf

3 the ageents all at regular infervals.

Now mark the accents in these sentences. Some have an anacrusis, some dorit!
e Thelother|day T fode on a[bss

* ﬁnleleykantljm efeaped from thelzoo
#* Myl and ldad are fronder vlbfo“u
* (Marking thelaccents s Jeasy anJlfUn

A When thelbig band isp it'sfone o]clock

| fiie littlelducks uent{out one|day

2| O thelpills and]far 32y

# R phimpargee makes allot of noie

# [[haie nyfchool bag{on mlback

e Bt foods arelolles and|chis



5 The/sun 1sl5L3ning\Lr15Hlj‘n0u

60

Creative Couplets

S
< -

Place an upright line BEFORE each important word or syllable in these couplets.
Remember that sometimes the first word or two is not accented!

Hot T'IP [: “,M"’(l(P Sometimes the second [ine OE Poetrj [ sLOrter, and may OnIJ have J accents.

N good uay to Jeel” the accents Ts to start by tapping a beat on your knees.

ot To 1T ol
ot Iip [ATON Once Yoo get the beat 40ng, say the vords a'ong with it!

T'\ere uere\ﬁojs ammoafs anJ Bames gayore
. Weljst dide'than to golpane ! 7. Whggled Piggleds g blac{ben

. \S!\e laid \6355 Ew\gentl%wen

3 Weffic ihtliraffc lightslred and]ren

.m\en ﬂ\ere'slam')er lin Leiueen .
MleaJ Lﬂ“ Le her”?leaseé!

" fod thebeach 1 getting| ot

7\ IE Ileat Upla“ my lsteak
IMUN ﬂig'\t‘give me 50me{ckocolate ‘cake!

The lschool bell [rings at [three fiﬁteen

Ever onesays it isJeasy tofswim
And (ﬂven ue)re\a“ OD\LohﬂaJs! [ Jone 53y [easy ’

. but[nO“One could {40 it as\East asw'lm

. Aus\frahans\are suc‘\\grienélﬂfo“x
Weuove to “;e outHoofs
You‘“[fim} the eham I just al breeze!

q T‘{NOrrou ['m Igo'mg to luasl. {Lelca,

g. S&»e{cut O)fE f'w'lr\fails vith alcarving\l&n'lge
Have Jou‘ever ‘;een suck a,sig'\t in Jour{ l'nfe?

H \Nou f'\af jOU)VelmarkGJ {Le\accents in M,ese

Timed Test III Time:

Once again, time yourself doing this quiz. Do it as fast as you can, but remember your
teacher will ADD ON 10 SECONDS for every mistake. Start the clock!

1. Name this tonic triad:

2.

0

P’ A
7
| fan
ANE "4

D))

E MO or

ooy

Write the correct time signature for these rhythms:

| Y
;L ! l  —. { =
e S S — — —— —C—p
|14
. . ] ™ | Ba— o T
Complete the following bar with quavers: ! I ‘! ‘! i

Name this inerval, = pnicar 4%

Mark the accents in the following lines of poetry.

Matildaltold such|dreadful ies

It{made one [gasp and [strefch one’sleyes H Belloc
6. Transpose this short melody up into F major
a0 ) Ar_ — I o WL B S——
SYaps @ P > hll P 7 I —1
| T ‘

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

[T made no mistakes! [ [ 11 made . mistakes.
LeeP my time og ' Mj new time is
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Italian Terms Know Your Signs

-

S
>

- .
-« -

There are quite a few new Italian terms to learn in Grade 2. You need to
| know these in addition to the Grade 1 terms, which are not listed here. For

You'll need to revise your Grade 1 signs, as well as learning these new ones!

a full list of Grade 1 terms and translations, go to www.blitzbooks.com.au.

Allargando

Meno mosso

Piu mosso
Allegretto

Largo

Lento

Vivace

Vivo

Fortissimo ( ff )
Pianissimo ( pp )
Mezzo piano ( BP )
Mezzo forte ( mf)
Cantabile

Da Capo al fine
(D.C. al fine)

Dal Segno (D.S.)
Maestoso

Mezzo staccato

Leggiero
Molto
Poco
Senza
Sempre

Sostenuto

becoming broader
slower (less speed)
quicker (more speed)
moderately fast
broadly

slowly

lively and spirited
lively and spirited
very loud

very soft
moderately soft
moderately loud

in a singing style

from the beginning
until the word ‘fine'

from the sign
majestic

moderately short
and detached

lightly
very

a little
without
always

sustained

Name OE sign

Meaning 0§ Sign

ign

Pause or 'fermata’

Hold for longer than
written value

| TN

Accent

Play strongly

L ]

Tenuto

Hold for full value of note

Mezzo Staccato

(on one note)

Moderately short and
detached

Mezzo Staccato

(on more than one note)

Moderately short and
detached

Triplet

3 notes played in the time
of 2 notes of equal value

Repeat

Repeat the music between
the dots

Strong accent
(also called 'marcato’ )

Play strongly

ANENOY

)
P
Q

Y

vl L

Add signs to indicate the notes in bar 1 are to be played mezzo staccato

Add a different accent sign to each of the crotchets in bar 3

*
*
* Place a pause sign above the last note of the melody
*

Add a sign to show the melody is to be repeated
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Quick Quiz

—

Add a mezzo staccato signh to this note: r

-
-

Write two Ifalian words that mean ‘lively and spirited: V/1\/O € €. and ViVe)

. The definition of a triplet is Havref. notes pla ed in the ime of 4up
notes of equal’ value

. What does ‘senza’ mean? _ 2 i+thouk

Write the following dynamic signs and their meanings in the boxes, in order from
softest Yo loudest:

soEt very ol pp mf mOJeratelj loud erf st mp  ff loud NOJEratelg 50§t p f

1

PP 2 2 3 mp 4 mL 5 £ 6 oo
mooler tely| [Mmoderate |
&&’ﬂ Sof4 Sof4 iy loc.dl J| | lowrst very lawel,

~

0

10. Translafe The I‘rahan words in this sentence: The vivace girl tiptoed m W?); leggzero

. Write the Italian and English names of this sign: [« \ Fermata and _Oowse

Write a different accent sign on each of these notes: r J

Who was the first man to walk on the moon? (ihis ProLaHJ won't be tested in the exan) Nei |
Armstrong

How many semiquavers are there in a semibreve? 16

h\)el ‘$Sp.r:4€o( “\.‘PI

and allegretto info the kitchen. She sempre liked to have poco chocolate senza anyone
knowing! olways o lidle poi Hhowk

> o to uuu.“ﬂz')oolxs.com.av Eor more reyision sheets anJ Etln 3ame5.'

Form

-“« y

Melodies usually have a certain structure or form. The two most common forms are:

BINARY FORM = 2 sections - part 'A’ followed by part 'B' (AB)

‘Binary Form' has two sections - think of Bicycle, Binoculars, efc. A melody in Binary
form will often be 8 or 16 bars long.

TERNARY FORM = 3 sections - part ‘A’ followed by part ‘B, then part ‘A’ is

repeated (ABA)

"Ternary’ begins with 't’ for three sections, Triangle, Tricycle etc. A melody in Ternary
form will often be 12 or 24 bars long.

HOT TIP- A piece o] music should have sections that balance each other.

W $‘¢. There uill often be  bars per section in a melody.

Here is a very well known piece - Twinkle Twinkle Little Star. It is in ternary form -
ABA. The letters are marked on the tune.

A B
S e EE===——————c——e =
G ===
A
A
G S S S s S e====

1. How many bars are there in total? 12

2. How many bars per section? “

3. What do you notice about the two A sections? ’rhe,:) ave the Samé

65
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Here it is again, this time shown in a different format. It now looks as though it's in
Binary form... but the 'D.C. al fine' sign transforms it into ternary!

A
n 1 ||
o e s e
S R e
Fine
B
[ .
4 T 1T T 1 P 1 T 71
e —————
Mv e e T
D.C. al fine

Sometimes a melody is in ternary form but the two 'A’ sections are not identical. As you
can see, the last four bars of 'Twinkle' below have some added notes and a different
rhythm, but the shape of the melody is basically the same! See if you can mark the
sections with the letters A, B etc:

) A f t | | t T T
ﬁ:’:‘j_—,‘:t' = —— —T—
) o o LA 4 ;“
H e .
p° 4 1 I I T 1 ] I I T fl N
ts———— —1— —— 'b{ — ]
LRSS = e oo ==
H A — | —
P4 1 I 1 I I 1 ) | | i
—FTree e 1 — ! i
[ ‘ i
e 4 o4 K4 =

f) A 1 | — 6..
e e e
¢ ee e e = =
- A o I

p A T T T 1 11 } 11 ool D
oot s e
>, M BT L

Becoming a Form Detective

-

It's quite easy to hear the form of a piece of music when it's played, but when it's only
printed on the page, you have to be able to SEE the form!

Cloes to look Eor dhen Jecichng the Eom OE a melody:

/@Equal numbers of bars per section (usually 4, sometimes 2, occasionally 8!)
/@Resfs or long notes that could mean the end of section ‘A’

/@Differences in shape and rhythm between the sections

/@Similariﬁes between the first few and last few bars, meaning ‘A’ has returned

Name the form of each of these melodies, and mark the sections using ‘A" and 'B'. (When
marl\'lng ‘N at the l)eginning 0& a NEIOJJ, aluajs Put it over the ery E'lrsi note, evep 'IE that note is an anacrvsis.l)

f)H- A p— & A
L e e . : ———F —T1—
L P o5t 1 e e e e e e e o S
) | gV g ST | '
Form:
A u X A Eumuf)_
A2 INT )| 1 1 T | 1 1 |
ég‘E 71T T | 1 }IJ {i % 1 1 )i |
D] ' [ [ ~ v o T
oA L 8
=TT Tegem s FF o
s s e e S S S |
& — Form:
Tergg%
A [

Form:

E eigg%

Q#
[
S
il
| HNE
!
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More Form Clues Form and Other Stuff

- R
-« >

/@If section ‘A’ has an anacrusis, the other sections will probably have one too Allegrettc]) 5 ; . 5 p
HDu A — ) ~—~ B
S L I | 2 - 4 |

'D.C. al fine' or 'D.S. al fine’ will transform a binary melody into a ternary
melody. However, a repeat sign % does NOT change the form of a melody!

maestoso
; 7 EPN A 9 10 ‘ 11 2
Name the form of each of these melodies, and mark the sections using ‘A’ and 'B". ; : e o o ﬁ[ 1
A )  NGPTI R B 4
0 N .
—o ] 77— — " 77— i) At what speed is the above melody to be played? Modu‘«\LU\J fost
Form: N el
N L fine 6\ — Tornacu i) In what style should the melody be played? M aJeS{-anll\j
A  N— T 1 | N i  —— | J R R .
B  — ] —H T iiil) Add an accent sign to the first note in bar 1.
o ] ;_L’ ——
iv) Add a sign to pause on the first note of bar 8.
i. i WS e T e— v) Add mezzo staccato signs to the quavers in bar 7.
| | | 11
1] 1 | | | 1 |
[ ' ' D.C al fine vi) Add a sign to show the melody should be repeated.
vii) What form is this melody? TU"\N‘;( Mark each section with the letters A,B, etc.
Het A I 5
'4“-1:=i‘..——i'—-' F g 4 -‘-=! Adv.'o
DTN - —' ' ] — A /—\ R
[y N —— (S [ , e o £ * o , . .
Porm: e e S C =K —
Binar ] s e — i B —— —
‘H— [ [ ! 14
)t 'F‘ '?PT.-I'.f_-IP-I.IIV e a
Srpe P e = <
i ’ l

rall.

i) What is the form of this melody? B\'M\rg Mark the sections with A, B, etc.

ii) Add an Ttalian word to show the melody should be played slowly.

A Form: iii) Give the full name and meaning of the Ttalian abbreviation in bar 7. Kalleatardo ~
Ternary

]
]
1
]

9radustly becoming  Slower
U 7 J

:. ; DID YU KNOW Music .SOUNJ& great in EOUr"Lar or EigI\t‘l)ar P'\rases! :




Absolute Final Revision Test

“* -

1. Give the English meaning for the following terms: /
5

i) allargando bécomin 2) broader

i) mezzo staccato meoole @f_ej% short and  dettachedl

Lron dhe_skart _untl £ine

iii)  dacapo al fine

iv)  andante

ot an casu Walkz\‘n% pace.

v) piu mosso ouu{c\a.e/ (more S:Ioe,ed\]

2. Write these intervals above the given fonic notes: /{2
0 He o) 0 H =
£ A G e P s T
[ Fan Fe®) [ FanY [ [ 7w} O e [ £ s
NV ANAY4 [© ] ANV ANV ANNY4 Y
[Y) © [y, () 0o © [y, Y,

perfect 5th  major 3rd major 6th  perfect 8ve major 3rd minor 6th

3. At each place marked with an arrow, add a rest to complete the timing of /5
the bar.
1L L
oo ’ P = o——F—=- =
)] = e =
7 7
4. Write the scale of C major: * use semibreves /6

* write two octaves going up

* mark the tones

r—
_9 Py ',—\A/\CP{’FD.G-
Y 4 LN N ey O™
[ £ anY | =N - ]
S
\_/“/
70

5. Name the form of the following melody and mark the sections with /3
the letters A and B.
Q g A = e P &
] ] ! o o
EG=" = ¢ | =
[Y) b
A [e— | )
P \ I 1 | 1 } {" ‘i
[Y) 3 a -
Form:_lexnour
J
6. Now franspose the above melody up to D major! 4)
T~
P PO N S i I
T - T
0 1] | .y L-j
e - .
ﬁ = £ o] =
> v = 1 H —
d = —— -
7. Add mezzo staccato signs to all of the quavers in your transposed melody! A
8. Complete this table: /6
J ign Nagme Mean'lng
Holot A longlsr
ause [fervmat 3
a © / 2 Yhan woritden value
ff fortissimo ve,f‘ca (oud
A 3—\—ron3 GQc.cent ,pla,.a He nNote
r (“m arcats) o force

Total: /50
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Mad Multiple Choice

1. In harmonic minor scales, we must

A. raise the 6th note
(B.) raise the 7th note

C. raise all of the notes

2. When deciding the key of a melody, it is important to

A. look at the key signature
B. look at the last note
C. check for accidentals

D. check which clef it is written in

@ all of the above
3
3. Triplets m are found in

@) simple time (Earth)
B. Compound time (Mars)
C. Dinner time

4. When marking the tones in a minor scale, we must avoid scale degrees

5-6

B.
© 6-7

5. In compound time, quavers are grouped in

A. twos
threes
C. fours

6. This sign: —— fills a bar with silence in
A. g only
B. 2% only

@ all time signatures

7. In Grade 2 we have to learn

more Italian terms than in first grade
B. less Italian terms than in first grade

C. no Italian terms

5. Circle the correct sign for ‘'mezzo staccato’ on one note:
N — -
a f 6. P @r
9. Ternary form means

ABA
B.

BAB
C. AB

10. The key signature of D major is

A. Bflat

2 sharps

C. B flat and C sharp

11. When writing two octave scales, we must begin

A. above the staff
B. below the staff

@ either of these depending on which way the scale is going
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12.

13.

14.

15,

16.

17.

Two octave scales should have

15 notes

B. 16 notes
C. 57 notes

Accent signs should be written like a small
@ decrescendo sign J B. crescendo sign J C. triangle J
> < >
When transposing melodies you should

A. follow the shape
(B write the scale degree numbers first
C. AandB

The whole bar rest hangs from

A. the second line
the third line

O the fourth line

We must raise the 7th note in

@ minor scales only
B. all scales

C. major scales only

Never group two beats together if

A. they are medium and weak
@ the first beat is weak
C. they don't like each other



Test Paper... sort of

- >

All theory books end with a test paper, but this one is DIFFERENT. It already has the
answers in it (mOsﬂy urong answers!) and your job is to be the teacher - you have to mark it.

When you've found all the mistakes, go to www.blitzbooks.com.au and download the
EXACT SAME PAPER - this time with no answers already in it. See if you can get 100%!

iNTERvALS  [EKEORGRNEN 3

1. Write these intervals above the given tonic notes.

= ==

6 1
ne
&

NV NV &7
¢ © =
perfect 4th minor 6th major 3rd
X _J’OO C/’OSQ.
= = % ear=y
Fan o 6 ~ {an PO
) ' o e ) ©
O
major 2nd major 7th minor 6th

2. Name these intervals by number and quality. < W r1e. quJ+j befér-e rmambe/ 7
"‘“"@)

Vo ‘
<Y ©

N>

sk
eQéﬂJP

ob
e@ub
ol



1. Write the scale of D harmonic minor.

6
e Write the key signature. X
e Use minims. v~
e Write two octaves ascending.\/ 9 N 9 NSLO\ /H'L
e Mark each tone with a slur, — 2™ octave .
e Complete the scale with a double barline { @ E
o o eeettEEE
Fo o -
X //3
Shart behou! 2 5""%{ o avoid Iejef ['ng A
2. Write the scale of A major. 3
6

e Do not write the key signature. Use accidentals. X

e Use semibreves.

o Write two octaves descending.,””

e Mark each semitone with a slur. X Ny direction
e Complete the scale with a double barline. X

dH S a 7N
B s

L AS S 2

S
sl A= Q
S

v
O

\\SV.
[Y)

3. Add a clef and any necessary accidentals to make this an E harmonic minor scale.

s /
o

(@)

V]IAN

N\
o

4

(@]

poed
-—
e’
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For each of the following, write:

* the key signature. X
* the tonic triad. |/

Q
=)
2z ]
> NV
| )

E minor A major
r;mé
NV
Y,

D minor

TIME and REYTHV KRR (2 |

1. At each place marked with an arrow, place a rest or rests in the correct order.

hale b
) 1 / i R

e ) 7 =
| - use
i | x dantt ngme 3 iv) |77
X
jt) = T ? —8 —=

77



B. Complete each bar with quavers correctly grouped.

X

fom———

<A

1

%

M

prfured

|t

Jé{

[ T

C. Add a time signature and the missing bar lines to this four bar melody.

/

/

/

e v 2 I (4
H—% @ ’J - — g &
[y,
D. Place a tick in the appropriate columns to correctly describe each time

78

signature. The first one is done for you.

Simple Compound Duple Triple Quadruple
2
2 | v v
/ X
g v/ v4
/
v/
i |V v4
v X
c |V

< Xy

>



Question 5 TRANSPOSITION

Transpose this melody down into E minor. Write the new key signature.

Total Marks 18 iR

P
S b
%g) 7 I ) o ¥ ’;J
h ——
ﬁ, >—e s :
ANDY4 - S~
G N
#ﬁp . \( X X/"\
o7 T i ﬂg  — ;r\_ 8
[Y) 1 ' - AN
o 9
=y e m— .
' s " = i e
‘He/?

Place an upright line in front of each accented syllable.

oSS x S
The ]seaguus\ﬂy, loh so|high

They\soar in the\sky and \sunset islnigh.

v / v

Total Marks 8
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TERMS and SIGNS Total Marks 18 [{/A4

A. Give the English meaning of the following terms.

i) senza ... W.“\'\'\ X

ii) sempre ... o \W‘A\j S /

iii) molto ritardando ....... yg.l.'..\.j....§.\..9\.mi.f.\.3 ......... K e
iv) leggiero ... \s gk ’/ r
V)  meno mosso odess MOSSX ........................................................
vi) allegretto ...... mg.t.k.g.f.gsk&.l.g,......%&\. .......... / ..........................................

B. Study this melody and answer the questions that follow.

e

12
Molto vivace 2 3 4
)1 y & -
= C . o e Al
3 —
’ & - - -”
Y- > o ~ o ©
< l-' ' \ AN 3\
= e e Eas
i) Mark the main sections of the form with the letters AB or ABA. ‘/
ii) Name the form of the melody. ..... A @>>< ..................... ((.\j
iii) At what speed is this melody to be played? ....... VQr\j ..... ‘Q 0\5*‘/5{"“%‘9&)
iv)  How are the crotchets in bars 5 and 6 to be played? ...... W‘)‘\/\&Q\d' ....................
.......... Y WS 1Y S, S,
V) Add an ltalian term above bar 7 to show the music should be slower. 7
: -7
vi)  Explain the sign on the quavers in bar 3 ..... ’rﬁ?h—{" ...................................
| 7T ] Mou did you go macking this paper? Did you find lots of mistakes? Now go to wblitzbocks.com.au

"—"  and Jounloaé the same paper, J e EE. You ’caﬁ;a,gét 100%!
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